The Monty Hall Problem – Solution

The two strategies are: 1. Always stick to the first choice.

                                     2. Always change the initial choice.

The problem boils down to working out which of the two strategies gives the highest probability of winning.

The solution has caused disagreements even between professors of mathematics, but I think that the solution below is correct.

Lets imagine that the 3 doors are labelled A,B and C. In this instance the car is behind door C and there are goats behind doors A and B.

	Door A

  Goat
	Door B

Goat
	Door C

Car


First choice of door:              Change or not change choice:          Outcome

           A                                    No change                                      Goat

           B                                    No change                                      Goat

           C                                    No change                                      Car

           A                                    Change                                           Car

           B                                    Change                                           Car

           C                                    Change                                           Goat

By always not changing the first choice, the probability of winning the car is one third. However, by always changing the first choice the probabilty rises to two thirds. Therefore, by always changing the initial choice, the probability of winning is doubled compared to the strategy of not changing the initial choice. We could have had the car behind door A or B; exactly the same argument would apply. 

